0918 - DIS 204

Thursday, September 17, 2020 9:27 PM

If you prefer to go in a breakout room to collaborate on HW or work by
yourself, just click "raise hand" or message me.
The breakout room will stay open until 10am.

1. For a function f(x, y), if fx and f, both exists at (1, 2), then for any unit vector u = (a,b),

Duf(1,2) = fx(1,2)a + fy(1,2)b.
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2. Consider f(xy, x, x3).
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3. If f(x1(t), x2(t),- -+ ,xn(t)) = f(¥(t)) is a function of n variables, and each variable x; is a function of t. Then
ot

A = Vifto) - 7 (t0).
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4. What is the gradient vector of
f(x,y,2) = x2y* + cos(z + y%) — 7xz?

_{ﬁ = 41()/1[:9 s
= <'LX(\I)“/7% 1'(47(293_.7,\5 SN &’b“f')J—S'\n (:L‘”jl) “7X>
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6. (a) What is the directional derivative of

f(xry) = at (_2!3)

y—x?
in the direction of u = (1,2, )?
(b) In which direction is the rate of change maximized?
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56 Didn't cover in either section:

7. Find the normal vector to the surface
x%+ y2 +2° =65
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8. Find the normal vector to the surface
X3+ y22 =11
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